16.2 The Equilibrium Constant, K
Equilibrium Constants — Meaning of the Magnitude of K

The equilibrium constant, Kc, for the following reaction is 1.29x10-¢ at 600 K.
COCl,(g) ¢ CO(g) + Cly(g)

Assuming that you start with only COCI,, describe the relative abundance of

each species present at equilibrium.

- [COCIL(9)] a. Higher / b. Lower c. Can’ttell
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15.2 The Equilibrium Constant, K
Writing Equilibrium Constant Expressions
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Howeven : o) Pure 5Rids do mo¥ appear in the expression.
%) Yure Niquids amd solvenls do mot appesr i e expression.
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156.2 The Equilibrium Constant, K
The Relationship between K, and K,

2 NOBr(qy <=> 2 N0 + Bralg)

V\ - [NOla (B\'al Ko = Pt::) Pﬁfz
¢ {NOBr 12 v P Nod:
How 0Re Wic amd Ko adoed ?
PN = oRT Ke = We (RTP(AT)™
P+ (nN)RT = We (RT)3%

Lymot 3 = CIRT
3-2 : md 0305 products - md? gas Reactomts
2 2N0(q) ¢ Bralg) 2, NOBr
Ke = Pro Pora 2. -2

P - P*wodr

EN0)* (RT)? {8ra) (RT)
TNOBeI? (RT)?

INOD*(8r) (RT)?
LNOBe}> (ART)2

[ Ke = Ke(RT)" ]

AN = mol of gos producls - mol o} 90s ReacYomls




15.2 The Equilibrium Constant, K
The Relationship between K, and K,

The equilibrium constant, Kc, for the following reaction is 2.90x102 at 1260 K.
Calculate Kp for this reaction at this temperature. = a) 1

2. S0,(g) © 2S0,(g) + 0,(g) i Kp=2.00 o3v
: d) 4
e)3

R=0.0821 L.atm.mol1.K

KP = V\C(RT)A“
an = 2+3-2 =1

Kp : 290x10"% » (00821 x1260)
:  2.99



